Name: A }/Q Period: Date:

Unit 3 Practice Test
1. Using the figure to the right, identify each pair of:
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2. Which of the following pairs of angles are always congruent if they are formed by parallel lines and a
transversal? Circle all that apply.

A. alinear pair of angles ertical angles @orresponding angles
@ alternate interior angles @altemate exterior angles F. consecutive interior angles

3. Which of the following pairs of angles are always supplementary if they are formed by parallel lines and a
transversal? Circle all that apply.

@a linear pair of angles B. vertical angles C. corresponding angles
D. alternate interior angles E. alternate exterior angles @onsecutive interior angles

@ver’tical angles formed by perpendicular lines

4. Find the measure of each missing
angle in the picture on the right.




5. Given AB || CD, find x and y.
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6. Are lines a and b parallel given the information below? Also, find x and y.
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7. True or False.
You can assume:

line CD || line BH @ F
line EG || line BH E @
line BD || line GH @ F

8. Find the distance from point C to line AB.
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9. Find the equation of a line perpendicular to y = (-%4)x + 6 through the point (-3, 5) in point slope form.




10. Partition line segment AB by giving the coordinates of point P that would make the ratio of AP to PB 7:3.
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11. Write the equation of the perpendicular bisector of segment AB given A (3, 6) and B(-5, 10) in slope
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